Enrollment No: Exam Seat No:

C.U.SHAH UNIVERSITY

Summer Examination-2017

Subject Name: Power Plant Engineering
Subject Code: 2TEO6PPE1 Branch: Diploma(Mechanical)
Semester: 6 Date: 11/04/2017 Time: 02:30 To 05:30 Marks: 70
Instructions:

(1) Use of Programmable calculator & any other electronic instrument is prohibited.

(2) Instructions written on main answer book are strictly to be obeyed.

(3) Draw neat diagrams and figures (if necessary) at right places.

(4) Assume suitable data if needed.

Attempt the following questions (14)
1)  Which of the following is not used as moderator? 01
1) Water 2) heavy water 3) graphite 4) boron
2)  Cost of operation of which plant is least? 01
1) Gas turbine plant 3) Nuclear power plant
2) Thermal power plant 4) Hydroelectric plant.
3)  Which of the following enters the super heater of a boiler ? 01
1) Cold water ~ 2) Hot water 3) Wet steam 4) Super-heated steam
4)  What is the steam critical pressure 01
1) 200 bar  2)221.2 bar 3) 222.2 bar 4) 224 bar
5)  The coolant used in boiling water reactor is 01
1) CO, 2) pressurized water  3) mixture of water and steam
4) liquid metal
6)  Which of the following fuel material occurred naturally? 01
1) U5 2) Py 3) pu24 4) U233
The efficiency of a thermal power plant improves with
7) 1) increased quantity of coal burnt 01

2) larger quantity of water used
3) lower load in the plant
4) use of high steam pressures.

8) In fuel cell, the........... energy is converted into electrical energy. 01
1) Mechanical 2) chemical 3) heat 4) sound

9) linch=.............. cm 01
1) 2cm 2)3cm 3) 2.54 cm 4) 4 cm

10) The nuclear energy is measured as 01
1) MeV 2) Curie 3) Farads 4) MW

11) Benson boiler is which type boiler 01
1) Firetube 2) water tube 3) both 4) none of these

12) Imm=.............. cm 01
1) 10 2) 0.01 3)0.1 4) 100
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13) What is the function of condenser

1) Convert water in to steam

2) Convert steam into water

3) Convert steam into super heated steam
4) None of these

14) Air-preheater is..............

1) Mountings 2) accessories 3) both 4) none of these

Attempt any four questions from Q-2 to Q-8
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Explain Benson boiler with figure.

Explain chain grate stoker with figure.

Explain Air and Gas circuit with figure

Explain national grid system in detail.

Draw the schematic diagram of modern steam power plant

Explain Boiling water reactor (B.W.R) with figure.

Write application of diesel power plant.

Explain Air intake system and Supercharging in detail.

Write differences between nuclear power plant and thermal power plant.
Write advantages and disadvantages of hydro power plant

Explain factor affecting the site selection of tidal power plant.

List various essential components of gas turbine and explain combustion chamber
with sketch.

Explain solar power plant with figure.

Write safety precaution for nuclear power plant.

Explain hydraulic and pneumatic ash handling system

Explain in brief geo-thermal power plant
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